Zeb’s Quiz 03

A.NORTH’S BID! EW pass. Replace ? with the correct bid - or pass

S N S N S N
14 ? 14 ? 1¢ ?
2NT ? 2NT ? INT ?
AAQS54 A A AJGS54
v9654 vAQJ3 v K9

¢ K64 ¢ AKS53 495
%82 % 10654 % AG6543

B. BIDDING

Which of these three North hands is consistent with the bidding?

How should the other two hands have bid differently?
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1) A9765 2) A AK432 3)AAJT6
v AK3 v7654 v A82
¢75 ¢ 38 ¢ KJ
% K432 %953 % 10873

C. LEADING
You are West each time - choose your opening lead against 3NT:

S w N E
INT P 2NT P

3NT AP

1) AKQ1043 2) A2 3)AAQ43
v AK32 v987432 v6
+76 ¢ AK?2 ¢Q10943
32 *965 *954

Zeb Stocken teaches bridge face-to-face, online and runs luxury bridge holidays.
For online courses and guided play sessions on BBO, see www.stockenbridge.co.uk.
For holidays to Europe, Morocco and the UK, see www.stockenbridgebreaks.com.




